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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVi
dFVo

—o—
+

18

16

14

12

10

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

day

MORHE

- BRE — — SO — — IO — —DOK— — — — W — — I — — FHHC — — MO — — — HORI— — — WK~ — —U— — —JIK — — MR — — — I

ECB*10%

fz_stock ec
ECC

K= — — S

-3 -
—
——

18

16

14

12

10

day

3250
3000
2750
2500
2250
2000
1750 ~
1500 ~

L © L © L © L ©
N N N ~ | o
N
| | co | oo | co
— — — —
- | o0
. —
= g L
| © | © | © | ©
— — — —
| ©
—_
| < | < | < | <
— — — -
> > > >
© © © ¢ © |M
o © o ©
| &N L o | o | o
— — — —
L © ) L © | © | o
— — — — -
P —
- o - co - o - co
| ©
=
- © - © - © - ©
% - o
X
m O o > (&)
I T > o o =
o o = [ L =
++ |4 + |4 + |4 + |4 +
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
o [=2) o ~ © o Te) o Te] o Te) o Te] o o o o o o o o ~ © [Te) <t ™ N — o [Te) o [Te) o [To) o [To)
— =] ~ 3] N S ~ rs) N N S =3} © < N . . . g . g . . . .
N — — — — — — o o o o o o o o o) o o ~ 0 N o ~
[Te) o rs) <t <t <t < ™

day



Plot [["I", "lopt'],

T,

"Topt’ ],

['RH’,

"RHopt’ ],

[ETcl’, 'optETc

I”], "LAI’, ’optEtRate’]

450

N

400

]
S RENA

\
V

AA

i‘

lopt |

350 V

300

v

Sy
v \IVMM A ﬂhxxﬂ
T e

250

200 ! |

150 1

50

75

100

125 150

30

28

26 ﬁ

é;ﬁ;,_"________
B

24 /
- AN A

!

18

/

80

75 |

—— RH

70

———  RHopt

65

60 A

55

3500

ETcl

optETcl

3000

2500

2000

1500

1000

500

2.5

— LAl

2.0

1.5

1.0

0.5

AN

175

1.4

optEtRate

.y

R\
T

. V V '
0.8 '

0.6

50

75

100

125 150

175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

—&— ECO
4000 -

3500
3000
2500
2000

1500 4 Warning: |col ['FVOEC'] is missing

2.5 5.0 7.5 10.0 12.5 15.0 17.5 20.0



Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-2

B | GEBRK @) | ERE(EA/M | BREE (/R | XS R

06:30 85 60.0 1.296 5| FiHAe06:30 KREHIEFE (KREAERSE)
07:10 85 60.0 1.296 5| FEAQO7:10 KEFEF (CGRAMEEEE)
07:50 85 60.0 1.296 5| FEAe07:50 KEFEFE (CGRAMEEE)
08:30 85 60.0 1.296 5|  THAe08:30 KREFEF (RAERHES)
09:10 85 60. 0 1.296 5| THR@09:10 KRENFERF (RATEREE)
09:55 85 60.0 1. 296 5| FEAe09:55 KENFEFE (RAMEEE)
10:40 85 60.0 1.296 5| FiHRe10:40 REHEFE (REAERSE)
11:20 85 60. 0 1.296 5| FHERe11:20 KENEF CGRAEES)
12:00 85 60.0 1.296 5| FEAe12:00 KEIEFE CGRAEESE)
12:40 85 60.0 1.296 5| FHA@12:40 KENFEF CGRAMEEEE)
13:20 85 60.0 1.296 5| FiHe13:20 REEESF (KREERSE)
14:00 85 60.0 1.296 5| FEAe14:00 KEIEFE CGRAMFESE)
14:45 85 60.0 1.296 | FiHfe14:45 RHEF (KREERESR)
15:30 85 60.0 1.296 5| TiHe15:30 REEF (KEAERSE)
16:35 85 60.0 1.296 5| FEAe16:35 KEIEFE (CGRAMEEE)
B2it|1275.0 (15%) 900. 0 3Z3KEC: 3000.0, PH: 6.5

unusual large postFgEt from yesterday (185), set to 180.0 ml.
REXRSEBPH (10.43) 5i87EPH (6.42) RER KA, FRE
REXEBIPH (10.43) 5FPH (6.5) RERK, BHME

REREBTEC (2036.0) H5igEEC (2500.0) REK K, HHE




FRV (ml plant-1)

ET (ml/hr/plant)

G3-2_0, Day=21 (2025-06-02)
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G3-2

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

09:05 86 60.0 1.296 | =| 1Ri%e09:05 Bz (kAHEREE)
10:05 86 60.0 1.296 | =| 1Ri%@10:05 Bzh (RAHEESE)
11:05 86 60.0 1.296 FA| 1BRi%@11:05 B3h (KRAHERESE)
12:20 86 60. 0 1.296 FH| 1Ri&@12:20 Bz (RAERESE)
14:00 86 60.0 1.296 FH| 1Ri&@14:00 B (REAERESE)
15:50 86 60.0 1.296 FA| 1BRi%@15:50 B3h (KRAHERSE)
Bit| 516.0 (6%) 360.0 3ZHKEC: 3000.0, PH: 6.5

RERSEBIPH (10.4) 5i&EPH (6.42) RERK, HRE
FEREPH (10.4) 5FPH (6.5) REKK, FHRE
EURGERIEC (2083.0) HigEE (2500.0) RER KA, HRE.
LORGEBIPH (10.5) 5i&EE (6.5) wERK, BRE.
LRGERPH (10.5) SiRBIE (6.5) RERK, BRE.
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34.
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35 |
—— MW
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33 1
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—— MW
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5 -
0 -
5 -
0 -
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5 -
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0 -

960 965
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